%k t(&»—LL-\‘\\or\ .

4:»..-&( Shalte<

n \ =©§"'H

4

x=| | x




www
ccc
<<
333 ;
CEL
o5 e

w

o=l £S5
22l =

jS‘e

3Ee =5 2‘




372 unit13

TABLE 13-4

A State Table with
Multiple Inputs
and Outputs

FIGURE 13-15
State Graph for
Table 13-4

Present Next State Present Output (Z,2;)

State X; X, =00 01 10 11 XX, =00 01 10 11
So S5 S, S S, 00 10 11 O
S, S S, S S 10 10 11 M
s, S S S, S 00 10 i1 01
Sy S S S S 00 00 01 O1
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TABLE 13-4

A State Table with
Multiple Inputs
and Outputs

FIGURE 13-15
State Graph for
Table 13-4

Present Next State Present Output (Z,Z;)
State X; X, =00 01 10 M X X; =00 01 10 1
S - S5 S S S 00 10 11 01
s, S S¢S, S 0 10 11 17
S, S So S S 00 10 {1 01
Ss S, S, S S 00 00 01 O1
11
01
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TABLE 13-4

A State Table with
Multiple Inputs
and Outputs

FIGURE 13-15
State Graph for
Table 13-4

Present Next State Present Output (Z,Z,)

State X, X, =00 01 10 11 XX, =00 01 10 11
S, S5 S, S S 00 10 11 01
S, S S, S, S 0 10 11 11
S, Ss Se S S 00 10 11 01
S, S, S, S S 00 00 01 01

resent a carry (c;) of 0 and 1, respectively. From the table, c; is the present state of the se-
quential circuit, and ¢;,, is the next state. If we start in S (no carry), and x; y; = 11, the out-
putis s; = 0 and the next state is S;. This is indicated by the arrow going from state S to S;-

Table 13-4 shows a state table for a Mealy sequential circuit with two inputs and two
outputs. Figure 13-15 shows the corresponding state graph. The notation 00, 01/00 on the
arc from S;to S, meansif X, = X, = 0or X, =0and X, = 1,then Z, = 0 and Z, = 0.
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TABLE 13-4

A State Table with
Multiple Inputs
and Outputs

FIGURE 13-15
State Graph for
Table 13-4

Present Next State Present Output (Z,Z))

State Xy X,=00 01 10 11 X;X;=00 01 10 11
5 5 5 5 %5 00 10 11 01
S, 5 5 & & 10 10 11 1N
5 Ss Se S S 00 10 11 01
[ s 5. 5 5 o C0 07 o1
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